The Matrix Exponential Set g: Y=AY A nxn matrix. 1):  $y' = ay = y(t) = Ce^{at}$ 20: Y generally looks like linear Combinctions of exponential solutions. Defi For an nxn matrix A, ve define the matrix exponential et 6  $e = I + A + \frac{1}{2}A^{2} + \frac{1}{6}A^{3} + \frac{1}{6}$  $= \sum_{i=1}^{r} \sum_{i=1}^{r} A^{k}$ 

One can show that this series Converges to a matrix, so that et is actually well-defined.

With this definition, it's easy to grave the higher dimensional analogue of the 10 care.

Jhm:  $\frac{d}{dt}e^{AE} = Ae^{At}$ The Solution Y' = AY of Y(0) = Vis given by T(t) = e v.

Proofi

· dt et dt ZI 1 (At) K=0  $\frac{d}{dt} \sum_{K'} \frac{1}{K'} A^{\varepsilon} t^{\kappa}$ K=O  $= \sum_{i=1}^{\infty} \frac{1}{(k-i)!} A^{i} t^{k-i}$ K=1  $= \sum_{i=1}^{\infty} \frac{1}{K^{i}} A^{K+i} t^{K} = A \sum_{i=1}^{\infty} \frac{1}{K^{i}} A^{K} t^{K}$ K=0 K=0 Aen Since Y(t) = e v Solver the IXP Y'(t) = AY(t) Y(o) = V, the oniqueness the Says this is the sol?,

Theoretically, this says if we Can Compute et me con Sohe any System. Let's Start with some easy cases.





 $= \left( \begin{array}{c} e^{\alpha_{1}} \\ \vdots \\ e^{\alpha_{2}} \end{array} \right)$ So matrix exponential is very easy for dragond matrix.

2. Next, we suppose that A is deayonalizable. This means that A has a basis of egenrectors, So w.r.t. this basis, A is dragondi Via Charge of basis, this means  $A = PDP^{-1}$ D = dragonal matrix w/ ergensaby

or deayond P= matrix whore column are ergenverbors for each eigenvalue. We're not going to focus on A larger than 3×3 blc computationally gets hard. When A = PDP<sup>-1</sup> us con Compite et as fillows:  $e^{A} = e^{PDP^{T}} \sum_{i=0}^{\infty} \frac{1}{K!} (PDP^{T})^{K}$ K=0 $(PDP^{-1})^{\tilde{}} = (PDP^{-1})(PDP^{-1}) = PD^{\tilde{}}P^{-1}$ 

in general.  $(ppp^{-1})^{\kappa} = pp^{\kappa}p^{-1}$  $e^{A} = \sum_{i=K}^{I} \frac{1}{K^{i}} PD^{i}p^{-i} =$  $P\left(\begin{array}{c} 1\\ 2\\ 1\\ k\\ \end{array}\right)P^{-1}$ K=0K=C  $= 1.Pe^{p}P^{-1}$  $z \in V = C \quad V$ Y(+)le Vtp-1v

Quick review: has to compute Imose of matric.  $P = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$   $P^{-i} = \frac{1}{det(P)} \begin{pmatrix} d & -b \\ -c & a \end{pmatrix}$  $3 \times 3$   $p' = \frac{1}{det(P)} Adj(P)$  $Ad_{j}(P) = \begin{pmatrix} C_{11} & C_{12} & C_{13} \\ C_{21} & C_{22} & C_{23} \\ C_{31} & C_{32} & C_{32} \end{pmatrix}^{T}$ 

 $C_{ij} = (i,j)^{th} (ofactor)$ =  $(-1)^{irj} \cdot det ((i,i)^{tr} minor)$ 

Ex. A=  $\left(\begin{array}{c} \left(\begin{array}{c} 2\\ 0\end{array}\right)\right)$ 2 = 1,3 ergendales:  $\begin{pmatrix} 1 \\ 0 \end{pmatrix}, \begin{pmatrix} 1 \\ 1 \end{pmatrix}$ eigenvecturs:  $)) = \begin{pmatrix} 1 \\ 3 \end{pmatrix}$  $f = \left( \begin{array}{c} 1 & 1 \\ \bullet & 1 \end{array} \right)$  $P = \begin{pmatrix} 1 & -1 \\ 0 & 1 \end{pmatrix}$ eat = Peptp-1  $= \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix} \begin{pmatrix} e^{t} \\ e^{3t} \end{pmatrix} \begin{pmatrix} 1 \\ 0 \end{pmatrix} \begin{pmatrix} 0 \end{pmatrix} \end{pmatrix}$ 

(x + + x)

 $\gamma = A \gamma \quad (0) = \gamma$  $A \quad Solv \quad K$  $= \begin{pmatrix} c_1 \\ c_2 \end{pmatrix}$  $Y(t) = \begin{pmatrix} e^{t} - e^{t}re^{3t} \end{pmatrix} \begin{pmatrix} G \\ C_{2} \end{pmatrix}$  $= \begin{pmatrix} c, e^{+} + c_{2}(-e^{+} e^{-3E}) \\ c_{2}e^{-3E} \end{pmatrix}$ 

 $= (c_1 - c_2) e^{f(1)} + c_2 e^{3f(1)}$ 



 $E_{X} A = \begin{pmatrix} 2 & 0 & 3 \\ 0 & 3 & 0 \\ 0 & 0 & 3 \end{pmatrix}$  $f_{A}(x) = (2-2)(x-3)$ Ergenvalus:  $\lambda = 2,3$  $\lambda = 2$ :  $\sqrt{2}$   $\begin{pmatrix} 1\\ 0\\ 2 \end{pmatrix}$  $N_2 = \begin{pmatrix} 0 \\ 1 \\ 0 \end{pmatrix}, N_3 = \begin{pmatrix} 2 \\ 5 \\ 1 \end{pmatrix}$ >= 3:  $\begin{pmatrix}
-1 & 0 & 3 \\
0 & 0 & 0 \\
0 & 0 & 0
\end{pmatrix}$ (A-32) 6  $\begin{pmatrix} -1 & 0 & 3 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix} \begin{pmatrix} x \\ y \\ z \\ z \end{pmatrix} \begin{pmatrix} 0 \\ 0 \\ z \\ z \end{pmatrix}$ 



det(?) > 1  $\begin{pmatrix}
1 & 0 & 0 \\
0 & 1 & 0 \\
-3 & 0 & 1
\end{pmatrix}$ Ad; (?) =

to solve Y'= AY Y(0)=V



 $= \begin{pmatrix} e^{2t} & -3e^{2t} & 3e^{3t} \\ 0 & e^{3t} & 0 \\ 0 & 0 & e^{3t} \end{pmatrix}$ 

## Y(t) = e V.

10 min Break

What do you do when A is not drayonalizable? Can use something called "Jordon Canonical Form" which is a defferent factorization. Details end up similer to above. For as, well try something elle Calthough it ends of hery very Similar).

Let's craamine et a little more Carefully.

. If AKV = O For some K and v, then ev  $= \left( I_{+} A_{+} T_{+} \frac{1}{2} A_{+}^{2} t_{+}^{2} + \cdots + \frac{1}{(n-1)!} A_{+}^{n-1} t_{+}^{n-1} \right) \vee$ 

· et satisfies e AtB A B when A and B commute, i.e. AB = BA.

 $e^{A+B} = \sum_{i=1}^{7} \frac{1}{k!} (A+B)^{i}$ Kad

(ArB)<sup>2</sup> - ArABrBAFB

= A+2AB+B.

efc. then blc this works at the level of gover series for real #'s by just doing the mult. it works for matrices too b/c have the necssary algebrain properties.

Ultimately, le want to Sole Y = AY, Y(0) = V. By general theory, if we

Can find n-hnoord independent Sol<sup>m</sup> to s'= A-1, then an arbitrary solt has to be a linear combination of them. Def: A generalized expenset of A M a vector V S.F.  $(A - \lambda I)^{\gamma} = 0$  for some p = 1. this is going to motucite the following approach.

For any A, Lese can write  $tA = t\lambda I + (A - \lambda I)t$ At  $\lambda If + (A - \lambda E)t$  e = e  $\lambda It (A - \lambda E)t \rightarrow t (A - \lambda E)t$   $= e \cdot e = e \cdot e$ If Y is a generalized eigenvector ul exponent p.  $(A-\lambda E)t = (I+t(A-\lambda E) + \frac{1}{2}t^{2}(A-\lambda E)^{2}$  $\begin{array}{c} F_{-1} \\ F_{-$ 

So evis then a Solution that we can conjute using the abare.

 $E_{X'} A = \begin{pmatrix} -1 & 2 & 1 \\ 3 & -1 & 0 \\ -1 & -3 & -3 \end{pmatrix}$ and we want to solve V'= AY.  $P_A(x) = (\chi_{r_1})(\chi_{r_2})^2$  $\lambda = -1, -2$ Eigenvalues:  $\mathbb{V}_{l} \approx \begin{pmatrix} l \\ l \\ -2 \end{pmatrix}$  $\lambda = -1$ :  $\sqrt{z} = \begin{pmatrix} & ( \\ & \circ \\ & -( \end{pmatrix} \end{pmatrix}$  $\lambda = -2$ ;

Not diagonalizably ust enough 1.i. ergenvectors. Since Ni, N2 are eigenvectors, we get corresponding solutions  $y_{1}(t) = e_{1} - t_{1} - t_{2} - t_{1} - t_{2}$  $y_2(t) - e_{1/2} = e_{-1} \begin{pmatrix} 1 \\ 0 \\ -1 \end{pmatrix}$ To find a third Solution yo(t), we need a generalized eigenrechor.  $\begin{pmatrix} 1 & 2 & 1 \\ 0 & 1 & 0 \\ -1 & -3 & -1 \end{pmatrix}$ A+22 =

$$\left( \begin{array}{c} A+2\Sigma \right)^{2} = \begin{pmatrix} 0 & 5 & 0 \\ 0 & 1 & 0 \\ 0 & -8 & 0 \end{pmatrix} \\ \begin{array}{c} a \text{ sector in the Kernel that's 1.1.} \\ \hline \\ & \text{from the eigenvectors that} \\ \hline \\ & \text{ve have found is } \begin{pmatrix} 1 \\ 0 \end{pmatrix} = Y_{8} \\ \hline \\ & \text{A solution is} \\ \hline \\ & y_{3}(t) = e^{-2t} (A+2\Sigma)t \\ e & V_{3} = \left[ I + t \cdot (A+2\Sigma) \right] V_{3} \\ \hline \\ & y_{3}(t) = e^{-2t} \left[ V_{3} + t (A+2\Sigma) \right] V_{3} \\ \hline \\ & y_{3}(t) = e^{-2t} \left[ V_{3} + t (A+2\Sigma) V_{3} \right] \\ \hline \\ & \int \left[ \begin{pmatrix} 1 \\ 0 \end{pmatrix} + t \cdot \begin{pmatrix} 121 \\ 0 & 10 \\ -1 & -5 & 1 \end{pmatrix} \right]^{1} \\ = e^{-2t} \left[ \begin{pmatrix} 1 \\ 0 \end{pmatrix} + t \cdot \begin{pmatrix} 121 \\ 0 & 10 \\ -1 & -5 & 1 \end{pmatrix} \right]^{1} \\ \end{array}$$

Note that Solutions y,(FI, yz(F), and yz(F) are all linearly independent, blc at t=0 the vector  $\left( \frac{1}{-2} \right) \left( \frac{1}{-1} \right), and \left( \frac{1}{2} \right)$  are Knearly independent.  $\implies Y(t) = C_{1}y_{1}(t) + C_{2}y_{2}(t)$  $+ (_{3} y_{3}(t)).$ 

The Algorithm.  
Y' = AY A nxn matrix  
- A has dichnet eigenvalues  

$$\lambda_{1,-1}\lambda_{k}$$
 which algorithms  
 $q_{1,-1}q_{k}$  Note that  $q_{1}+-+q_{k}=0$ .  
For each eigenvalue  $\lambda_{1}$ .  
For each eigenvalue  $\lambda_{2}$ .  
For each eigenvalue  $\lambda_{3}$ .  
For each eigenvalue  $\lambda_{3}$ .  
 $(A-\lambda E)^{P}$  has a q dimensional  
Kernel. Find a basis  $\{Y_{1,-1}, Y_{q}\}$ .  
Set  $Y_{j}(t) = C_{Y_{j}}^{At}$ .

=  $e^{(v_j + (A-\lambda E)t_j + \cdots)}$  $\left( \frac{1}{p-1} \left( t^{p-1} \left( A - \lambda I \right)^{p-1} v_{j} \right) \right)$ 

All three sol are linearly ind.  $= \int Y(t) = \sum_{i=r}^{n} C_i Y_i(t)$ 

Ex:  $A = \begin{pmatrix} 1 & 1 & 1 \\ 0 & 1 & 1 \\ 0 & 0 & 1 \end{pmatrix}$ 

Want to Solve Y'= AY.

 $P_{A}(x) = (x-1)^{3}$ 

X=1 ergenvalue

 $\begin{pmatrix} 0 & 1 \\ 0 & 2 \\ 0 & 2 \end{pmatrix}$  dim Ker =  $\begin{vmatrix} 0 & 2 \\ 0 & 2 \end{vmatrix}$ A-T:(A-I) <:  $\begin{pmatrix} 0 & 0 \\ 0 & 0 \\ 0 & 0 \end{pmatrix}$  din Ker = 2 (000) (000) (000) 3 ; (] I-A)

 $Since (A-I)^{3} = 0 = 1$ basis for Kernel is  $\int_{-\infty}^{\infty} \begin{pmatrix} \cdot \\ 0 \\ 0 \\ 0 \end{pmatrix}, \begin{pmatrix} 0 \\ 1 \\ 2 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}, \begin{pmatrix} 0 \\ 0 \\ 0 \\ 1 \end{pmatrix}$  $y_{1}(t) = e \cdot e \left( A^{T} I \right) t \begin{pmatrix} I \\ 0 \\ 0 \end{pmatrix}$  $= e^{t \begin{pmatrix} 1 \\ 0 \end{pmatrix}}$  blc  $\begin{pmatrix} 0 \\ 0 \end{pmatrix}$  i,

eigenrector. y2(1) 2 e. e (a. z) ( )  $z e^{t}(I + (A - I)t) \begin{pmatrix} 0 \\ 0 \end{pmatrix}$  $y_{3}(t) \geq e \cdot e \cdot \left( \begin{array}{c} 0 \\ 1 \end{array} \right)$  $= e^{t} \left( I + (A - I)t + \frac{1}{2}t^{2}(A - I)^{2} \right) \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix}$ 

 $Y(t) = C, y, (t) r C_2 y_2(t)$  $t C_{3} Y_{3}(t).$ general Sola.